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EESSPPEECCIIAALLIIDDAADD  MMEECCÁÁNNIICCAA  
PPrrááccttiiccaa  33  

RReepprreesseennttaacciióónn  ggrrááffiiccaa  ddee  ffuunncciioonneess  ddee  uunnaa  vvaarriiaabbllee  
  

••  RReepprreesseennttaacciióónn  eenn  ppaarraammééttrriiccaass::  
  AA  mmeennuuddoo  eess  mmuuyy  ccoommpplleejjoo  oo  ccaassii  iimmppoossiibbllee  rreepprreesseennttaarr  llooss  ppuunnttooss  ((xx,,yy))  ddee  uunnaa  

ccuurrvvaa  eenn  eell  ppllaannoo  mmeeddiiaannttee  uunnaa  eexxpprreessiióónn  ddee  ffuunncciióónn  ddeell  ttiippoo  
yy==ff((xx))  

    SSoobbrree  ttooddoo  ccuuaannddoo  eessttuuddiiaammooss  ffííssiiccaa  llaa  ccuurrvvaa  ((eell  ccoonnjjuunnttoo  ddee  ppuunnttooss  ((xx,,yy))))  vviieennee  
ddaaddaa  eenn  ffuunncciióónn  ddeell  ttiieemmppoo  tt::  

  
  

  
  EEjjeemmppllooss::  

  LLaa  rreeccttaa::  eeccuuaacciióónn  ddee  llaa  rreeccttaa  qquuee  ppaassaa  ppoorr  uunn  ppuunnttoo  PP==((xx00,,yy00))  yy  ttiieennee  
ccoommoo  vveeccttoorr  ddiirreeccttoorr  vv==((vv11,,vv22))::  

 
 
 
 
Así, la  rreeccttaa  qquuee  ppaassaa  ppoorr  PP==((11,,--22))  yy  ttiieennee  vveeccttoorr  ddiirreeccttoorr  vv==((88,,33))  ttiieennee  ppoorr  eeccuuaacciióónn  

 
 
 

 
OOttrrooss  eejjeemmppllooss::  

  
  

 
 

  
••  RReepprreesseennttaacciióónn  ddee  ccuurrvvaass  iimmppllíícciittaass::  

    OOttrraa  ffoorrmmaa  eenn  qquuee  ppuueeddee  vveenniirr  ddaaddaa  uunnaa  ccuurrvvaa  eess  ddee  ffoorrmmaa  iimmppllíícciittaa..  EEnn  eessttee  
ccaassoo  llaass  vvaarriiaabblleess  ccaarrtteessiiaannaass  xx  ee  yy  vviieenneenn  rreellaacciioonnaaddaass  ppoorr  uunnaa  eeccuuaacciióónn  
ddoonnddee  nnoo  ppooddeemmooss  eexxpprreessaarr  oo  ddeessppeejjaarr  uunnaa  eenn  ffuunncciióónn  ddee  llaa  oottrraa,,  eessttoo  eess,,  
tteenneemmooss  uunnaa  eeccuuaacciióónn  ddee  llaa  ffoorrmmaa    

FF((xx,,yy))  ==  00  
  

  EEjjeemmppllooss::  
  

 
EEssttooss  ttiippooss  ddee  rreepprreesseennttaacciioonneess  ttiieenneenn  ggrraann  iimmppoorrttaanncciiaa  ccuuaannddoo  qquueerreemmooss  
ddiibbuujjaarr  eell  ssiigguuiieennttee  ttiippoo  ddee  ccuurrvvaass..  
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••  CCuurrvvaass  ccóónniiccaass::  
  PPaarráábboollaa::  lluuggaarr  ggeeoommééttrriiccoo  ddee  llooss  ppuunnttooss  ((xx,,yy))  qquuee  vveerriiffiiccaann::  

  

                                                                                          
  CCiirrccuunnffeerreenncciiaa  ddee  cceennttrroo  ((xx00,,yy00))  yy  rraaddiioo  rr::  lluuggaarr  ggeeoommééttrriiccoo  ddee  llooss  ppuunnttooss  
((xx,,yy))  qquuee  vveerriiffiiccaann::  

                                                                                                              
  

  EElliippssee  ddee  cceennttrroo  ((xx00,,yy00))  yy  sseemmiieejjeess  ((aa,,bb))::  lluuggaarr  ggeeoommééttrriiccoo  ddee  llooss  ppuunnttooss  
((xx,,yy))  qquuee  vveerriiffiiccaann::  

                                                                                                              
 

  HHiippéérrbboollaa  ddee  cceennttrroo  ((xx00,,yy00))  yy  sseemmiieejjeess  ((aa,,bb))::  lluuggaarr  ggeeoommééttrriiccoo  ddee  llooss  
ppuunnttooss  ((xx,,yy))  qquuee  vveerriiffiiccaann::  

  

                                                                                                      
    
Recuerda:  

cbxaxy ++= 2

]2 ,0[    
sin)(
cos)(

0

0 π∈




+=
+=

t
tryty
trxtx

22
0

2
0 )()( ryyxx =−+−

]2 ,0[    
sin)(
cos)(

0

0 π∈




+=
+=

t
tbyty
taxtx

1)()(
2

2
0

2

2
0 =

−
+

−
b

yy
a

xx

]2 ,0[    
sinh)(
cosh)(

0

0 π∈




+=
+=

t
tbyty
taxtx

1)()(
2

2
0

2

2
0 =

−
−

−
b

yy
a

xx

cosh
2

x xe ex
−+

= sinh
2

x xe ex
−−

=


